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SECTION - A/ @UE - R

TH 1. ¥ I H 15 ARAEE I9-TE E, Tedeh % i I AR 15 W 20 weat
ST R | |t T erfad ¥ | el I 03 () it R | (15x3=45)
This question contains 15 very short type sub-questions. Answer each question

in maximum 15 to 20 words. All questions are compulsory. Each question
carries 03 (three) marks.

Que. : 1.

T (1.1) e qer et @1t Ofe’ | s g ?
What is the difference between “Gypsum and Plaster of Parig” ?

S (1.2)  Ueh (o WICHM T TS el 797 R 0 30 kg 9 e g
3 27 et T s o B 7 wE I

A coolie is walking on a railway platform with a load of 30
How much work is done by coolie ?

G (1.3) SA-Fft, ST ol Tag W awet ® 7

Why water hyacinth floats on water ?

g on his head.
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T (1.4) 2 Raerey, rftar 3t e e o1 ok e Terd € | 78 1 ¢ fob wfit g
By Sfta o wifieRen 0.62 ® | e % A1 St Y 7 wTRieRdn @ 7
Two players, Sangeeta and Reshma play a tennis match. It is known

that the probability of Sangeeta winning the match is 0.62. What is the
probability of Reshma winning the match ?

TH: (1.5) T RaciFT R 1 351 T . 540 o | T GHMGR 3 3 20% o9 T i<l |
Raei <1 568 Hod R o ¢

Selling price of toy car is Rs. 540. If the profit made by shopkeeper was
20%. What was the cost price of this toy ?

UE: (1.6) TH 3 STHR 3 U W 1 &6 480 m? B, T GHIRR YSTIAT oh s hl
70 15 m ? A 3T A T THTR ST AT RS 20 m T | FE AT S
<! TS 1 T |

The area of a trapezium shaped field is 480 m?, the distance between two

parallel sides is 15 m and one of the parallel side is 20 m. Find the length
of other parallel side.

I (1.7) IS FR 7
What is the Pie Chart ?

TH: (1.8) ek it Ot ol T e 15 W o B 1 39 1 w2 A it g s oo T
¥ forcT T AW ? (n=23.14)

The minute hand of a circular clock is 15 cm long. How far does the tip
of the minute hand more one hour ? (n = 3.14)

T (1.9) U siifgen guer fifd & v fafau |

Write the name of parts of National Intellectual Property Rights.

T (1.10) URSHE! S |

Transgenic Animals.

T (1.11) St S < o it g, |

Energy Management : Issues and Challenges.
T (1.12) A Fiag Tered 8 R W ¢ 7

What do you mean by fecal sludge management ?

IH: (1.13) AR |

Bioremediation.
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T (1.14) AhTHI THIFWH |

Venkatraman Ramakrishnan.

Tw: (1.15) a EEA |

Biomagnification.

Ferfcfian & & fohwl 10 St o I sAfereram 100 wrodt  forfaw | wedren A 6 (92)
3! 7| (10x6=60)

Write the answers of any ten of the following questions in maximum 100 words.
Each question carries 6 (six) marks.

T (2.1) SR % THIY GIST H a0 HIRT |

Describe Bohr's model of an atom.

T¥: (2.2) Qi SH T 36! Y9G |

Sonic Boom and its effects.

TH: (2.3) S W S oiF 51 SRl 9o A1 30 om, 40 cm, 50 cm ® &l TUereTieht
¥ ST S, QT2 S 5 6 el Hag S9% /T /T 7
Three solid cubes of sides 30 cm, 40 cm and 50 cm respectively are
melted and made one cube. Find the total surface area of new cube.

S (2.4) WIEEgar W feuquf} faRau |

Write note on Mitochondria.

SR (2.5) ek &N § ST o1 Sirwrd o fornieiat it et T #1 40% B | UE sy
AT 22 % | et 8 el Y §EAT BT ol HEAT ¥ ST J1d HIRAT |
In a class, the percentage of girls is 40% of total number of students and
are 22 in number. Find the ratio of the number of girls to the number of
boys in the class.

T: (2.6) T SFehia TEAT & 3T 1AM 9 B | el 3fehi hl T4 WER Teerd , at wra &
T3 aftort 7w got T ¥ 27 A 8, A1 TR He R 7
Sum of the digits of a two digit number is 9. When we interchange the
digits, it is found that the resulting new number is greater than the original
number by 27. What is the two digit number ?

TH: (2.7) R TG, 36 FhR G YA hl G0 |

Explain remote sensing, its types and uses.
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T (2.8)  STaTeH S R R § 7 36 o1 T B E 7

What are fossil fuels ? What are their disadvantages ?

TR (2.9) STy ARerel, 56 Rl Ud Prers U #) s |
Explain climate change, its causes and remedial measures.

YH: (2.10) ﬁww-zwﬁmﬁ%@u

Write note on Mission Chandrayaan - 2.

SR (2.11)  wieRoT TRaqor Srfrfem - 1986 h! @ ferdiwaTd emzmey |

Explain salient features of Environment Protection Act — 1986,

R (2.12) i wHe W feoouft fafaw |
Write note on Bt Crops.

39 U | o3w—m%,mmmwwﬁmsoomﬁ%m%|ww
aﬁaﬁ%lmmﬁmﬁwsﬁ%lmﬁﬁumﬁmﬁwwwé@

%mwmw%waaﬁaﬁa:aﬁlmww(m)aﬁﬁw%l (3x15
There are 03 sub-questions in this question, each has to be answered
in maximum 300 words. All questions are mandatory. There is

also an internal option in every question. The answer to the internal

option. of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.

TH: (3.1) (A) Tt At o et HEAIA teh, = feu T et o1 3R S

=45)

| g Raenfest s vl | gow : wien Rees

gmyg-ﬁ 15 2:1

TS 12 1:1

T 8 137

AT 13 1:4
Sefie 26 1:1

fehe 16 3:1
deTsh ’ 10 2:3

o Taerteat &t v = 100
(a) Tt A Raenfeat o e fra @ ?

(b) Tore @t # watferen qew Raenfeat ¥ s e ?
(c) TR H get Bl et gt (G oo wften) et s e sfiwm & 7
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T : (3.2) (A)

TH: (3.3) (A)

(B)
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Study the following table carefully and answer the questions given below :

Sports Total players percentage | Male : Female Players
Boxing 15 51
Chess | 12 127
Snooker 8 1:7
Swimming 13 14
Badminton | 26 1:1
Cricket 16 3:1
Shooting 10 2:3

Total number of Players = 100
(a) What is the total number of female players ?
(b) In which sport maximum number of male players participated ?

(c) Whatis the percentage of male players participated in snooker to all
the players (male and female) ?

AYAT/OR

What is quantum supremacy ? How quantum computing is different
from traditional computing ? What can be the possible applications
of quantum computing ?

St ¥ S Gt 1 ada Tl w1 vl w0 | T i H 3
FoyraTal < et | .

Discuss the current scenario of alternative sources of energy and give
an account of their future prospectives.

JAAAT/OR

g T qerIgh! o G 39 SR e ST s | 3%
Jerew S |

Explain the applications of science and technology in social and
economic development. Give its some examples.

= aTe Tt & I FHEd B < it & Tt B o SR
T o garg | g | .

What are endocrine glands ? Describe in brief the functions of
hormones secreted by these glands.

AAGT/OR

%mmwéﬁmmﬁﬁﬁaﬂawmﬁwwﬁﬂ
wmﬁ%?maﬁﬁﬁﬁawﬁ%ﬂﬁwaﬁm%mﬁﬁmﬁ@@
iR w9 8 H T EHA © 7

What are the impediments in disposing huge quantities of discarded
solid wastes which are continuously being generated ? H_ow (_do we
remove safely the toxic wastes that have been accumulating in our
habitable environment ?

-5-
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SECTION - B/@vUs - 9

T W & 15 atfrergaty 39-3e1 §, Welies Wy o1 39T IR 15 & 20 I3
SR | Aht e orfveTd § | wredies We 03 (efrr) FHent b 2 | (15x3=45)

This question contains 15 very short type sub-questions. Answer each quest?on
in maximum 15 to 20 words. All questions are compulsory. Each question
carries 03 (three) marks.

Que. -

1.

SRH: (1.1)

T3H: (1.2)

TH: (1.3)

T : (1.4)

T¥H: (1.5)

U¥H: (1.6)

TH: (1.7)

SRA: (1.8)

TH: (1.9)

W o T T2 | 2011 oY SFITOMT 3 TR HTERET Tl 7 2 7

In which State of India has the lowest literacy rate according to 2011
census ?

G.D.R. T 1 ARyI R 7
What do you mean by G.D.R. ?

"aH g g’ @ T e wwe § 7

What do you mean by ‘Minimum Support Price’ ?

WA <l TSR 317 3 ayefogareen & frg & o1 e wed atfre 2 7

Which sector of economy contributes the highest share in National Income
of India ?

T | AT 1 G & 7

What do you mean by devaluation ?

o (TRIPS) T 2 ?
What is TRIPS ?

TS 371 <l 119 Y forah ol & ¢

How many measuring methods of National Income are there ?

Hehel B ITIE § STTYHT AT 371904 @ 7
What do you mean by Gross Domestic Product ?

T 379 30T FrRiHA 1 R 7

What is the Start Up India Programme ?

S (1.10) oS~ SUSHI 41 & 7

T (1.11)
MR (1.12)

T (1.13)

What is Disguised Unemployment ?

AT ISR (TH &iH) FTR ?
What is Buffer Stock ?

it-3eaft SrguTa’ @ T w1 SR R 7
What do you mean by ‘Capital-Output Ratio’ ?

g st F R 7
What is the relative poverty ?
.
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Que. : 2.
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SR (1.14) SR Qs R ?
What is UDITA Yojana ?
S (1.15) WA H Iere $Riee 317 aradietelt et o R 2 7

Where is National Institute of Virology is located in India ?

it 3 & foreet 10 weett 36 3w a1fRrepam 100 vt forfau | e e 6 ()
3l 1 R (10x6=60)

Write the answers of any ten of the following questions in maximum 100 words.
Each question carries 6 (six) marks.

T : (2.1) ‘Nﬁnﬁﬁtmwﬁqm’%mwnﬁ%aﬁﬁw |

Explain the important pillars of ‘Atmanirbhar Bharat Abhiyan’.

SR (2.2) WA T o Tefmtor & 3 oo i amemoqe @1 4 et % o o 3o
hifs |

State the reasons for the lack of infrastructure for the growth of manufacturing
sector in Madhya Pradesh.

TH: (2.3) ‘%ﬁw%wmﬁmﬁgﬁﬁ%l’wmﬁmﬁw
fetRam |

‘Globalization leads to sustainability in the Indian Economy.’ State your
views in this regard.

S (2.4) TSR A1 TG h1 Hged FATST |

Explain the importance of National Income Accounting.

S: (2.5) WA H s % Ao ¥ A wfif < wiif arrs gfr A R 3 7
How is the methodology followed by the Rangarajan Committee different
from that of the Tendulkar Committee in measuring poverty in India ?

T¥: (2.6) ‘ﬁm@am’wmm@mmwmmwl

Examine the ‘Service Area Approach’ in terms of rural credit.

T: (2.7) WA 4 Hifseh SR g 1 E ] ? qerie Hifv |

Why is Monetary Transmission not effective in India ? Examine.

S¥: (2.8) TR afien v sivehfer e, fifmior e et g wh s A 2 | e
FifS |

‘Special Economic Zones’ are an engine of industrial development,
manufacturing and exports.’ Explain.

T : (2.9) wwm%ffﬁmﬁwﬁﬁaﬁ{ﬁwaﬁmﬁﬁm

Explain the role of Horticulture in agricultural development of Madhya
Pradesh.
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S (2.10) ¥ 2020-21 3 o <Y fomTelt o Wit % et U] SedTe oh) gl <Y farE
hifer |

Explain the trends of GDP of India in first two quarters of the year 2020-21.

R (2.11) 7ET o & Y & A e wAwiE ) same AR |

State the major weaknesses of Madhya Pradesh in Agricultural Sector.

T (2.12) ‘Wﬁw%mﬁwﬁa@ﬁﬁww & g 2 | ey |

‘Subsidy in the form of free electricity has led to depletion of ground water.’
Explain it.

T ; 3, wmﬁosm—w%,mmwwaﬁwsoosﬁrﬁﬁ%lmﬁm
aﬁaﬁ%lmmﬁmﬁmﬁwﬁ%l et for atiafier fomer s s 2 @
© SHH T I5oRg I F Gy AR | T 99 15 (T5®) ST HTRI (3x15=45)

Que. : 3. Thereare 03 sub-questions in this question, each has to be answered in maximum
300 words. All questions are mandatory. There is also an internal option in
every question. The answer to the internal option of the candidates is to be made
explicitly before the answer. Each question carries 15 (fifteen) marks.

T (3.1) AR refeaen § e %ﬁmﬁﬁiﬁwﬁﬁmﬁww
hife |

Evaluate the role ang performance of Public Sector Enterprises in the
Indian economy.

HAYFT/OR

/m‘hmmmaﬁ\aﬁm, 2013 1 et iR |

Explain the National Food Security Act, 2013.

T (3.2) Re § oy ﬁxmﬁéﬁwﬁﬁmwaﬁwﬁmw&@aﬁm |
/Explain the nature and causes of rural and urban unemployment in India.
HAYJT/OR
,ﬂwﬁ@ﬁmigmﬁaﬁmﬁuﬁaﬁtﬁmﬁwﬁs@ww l

Analyse the achievement and failures of second generation reforms in India.
T : (3.3) Wmmﬁmﬁﬁwm%maﬁmﬁmv%mwﬁ
/" e | =

Explain the provisions of skill development under Make in India Programy
taken by Government of India,

How Universal Basic Income may be a too| of reducing income
inequality and poverty ? Give your opinion.

i ————i mx--m._.a-_..__._v.__...m_——.__..—..-_.... ——
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